P—Q ™\ TS
i’? B_%a vier Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
§+§+lxl= 24><1+3—%:
4 4 2 2 6 3
1+2x3—1— 35><1;7—1—
2 5 5 6 2 6
SNV 2 4xli-
4 2 3 2 3 3
1—18Xg+2: l—%xl+%:
3 5 2 5 3 3
I 3 2 1 I 1 3 1
—_— e X _— - = — — — X e — - =
2 4 5 5 3 3 4 5
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P—Q ™\ TS
Q{_/? 8_%_8 vier Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
E-l—é-l—lxl:zzlé 24><1+3—%:z

4 4 2 2 4 4 6 3 3

1 2 3 1 43 1 1 7 1
—F =X == === (X =+T—====2-
2 5 5 6 75 2 6 3 3
3 1 1 1 17 5 2 2

-ttt -X=-=—=1— ——4x-+1=(-2)

4 2 3 2 12 12 3 3

1 2 49 4 1 2 1 2 31 1
-—1 - +2=(——=)=(3— — ==X —Ft = — =1—
3 B85 220 = 53R) 2757373730 30
1 3 2 1 I 3 1 7
—_—— X =—== _—_x_—_z(—_)

2 4 5 5 3 3 4 5 60
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